ID
control

Average
SD

slope(control)

BDI
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morning

0.86956
0.414878
0.626157
0.838931
1.282716
0.33112
1.06587
0.583126
0.096979
0.726158
1.2
0.629548
0.772008
0.485297
0.391502
1.227959
0.985089
0.27806
0.678338
0.700763
0.345853

14
14

morning—night

0.65027
0.150349654
0.366564563
0.543033145
0.858100709
0.116526695
0.817615348
0.531789472
0.048769218
0.555404046
0.747076369
0.378120052
0.560725989
0.306374879

0.35510247
0.964833271
0.742341274
0.127505451
0.316024328

0.6143
0.6143

night

0.21929
0.264528
0.259593
0.295898
0.424615
0.214593
0.248254
0.051336

0.04821
0.170754
0.452924
0.251428
0.211282
0.178922
0.036399
0.263126
0.242748
0.150555
0.362314
0.229304
0.116063

night—night

[eNoNoleNolNoloelNolNolololelNolollolNollolNolo]

BDI

slope

1.2

0.8

0.6 -

0.4
0.2

SASS slope
y = —0.6503+1.5198 0.6503
26 29 y = -0.1503x + 0.5652 0.1503
8 44 y =-0.3666x + 0.9927 0.3666
3 34 y = -0.543x + 1.382 0.543
6 49 y =-0.8581x + 2.1408 0.8581
5 40 y =-0.1165x + 0.4476 0.1165
7 39 y =-0.8176x + 1.8835 0.8176
18 25 y =-0.5318x + 1.1149 0.5318
18 30 y = -0.0488x + 0.1457 0.0488
5 25 y = —0.5554x + 1.2816 0.5554
7 36 y =-0.7471x + 1.9471 0.7471
12 31 y =-0.3781x + 1.0077 0.3781
6 34 y =-0.5607x + 1.3327 0.5607
23 29 y = -0.3064x + 0.7917 0.3064
3 39 y =-0.3551x + 0.7466 0.3551
13 34 y = -0.9648x + 2.1928 0.9648
10 35 y =-0.7423x + 1.7274 0.7423
5 31 y =-0.1275x + 0.4056 0.1275
16 37 y =-0.316x + 0.9944 0.316
]
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